log (L*)
log(L*) L*

LABJND2-Helligkeit

L* L aBanD2= (V@) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 /a=258.6 b=&=6.14
*,=508 Y,=18
log(L* ;)=2.7, m;=0.43

Anwendungs-

bereich

Y,=18

logAY
log(AY) AY

LABJIND2-

Normfarbwertdifferenz
L*= (t/a) In [ 1 + b (Y/Yy)]
a=0.3411 t=88.23 t/a=258.6 b=&,=6.14
Normfarbwertdifferenz
log(dY)=log[(s+qY)/c]

=log [(1+b-(Y/Yy))/t]

$=0.017 q=0.0058 c=1.5

Anwendungs-

bereich

log AY/Y)
log(Cy) C=(AaYlY)

LABJIND2-
Normfarbwertemfindlichkeit

L*LaBanD2= (a) In[ 1+ b (Y/Y)]

a=0.3411 t=88.23 t/a=258.6 b=&=6.14

Hellbezugswertempfindlichkeit
log(dY/Y)=log [ (1 + b (Y/Yy) / (t-Y)]

Anwendungs-

bereich
1

~
1 Iog(leY) —2.34 m;=-0. Ia* a0

log (Y/AY)
log(S)) S=(Y/AY)
L*LaBanD2= (Ya) In[ 1+ b (Y/Y)]
a=0.3411 t=88.23 /a=258.6 b=&=6.14
Hellbezugswertkontrast
log(Y/dY)=log [ (1+b (Y/Yy) ) / (t-Y) ]
Y,=18, dY,=0.08 Y,/dY =222
log(Y/dY)=2.34 m,=0.13
-

LABJIND2-
Normfarbwertkontrast

Anwendungs-

bereich

Y,=18

log (LH/L* )
7L

Relative LABJND2-Helligkeit

L*LaBanD2= (Ya) IN[ 1 + b (Y/Yy)]
LYIL* 4= (Ha) {In (1 + b (Y/Yy) - In (1 +b)}
a=0.3411 t=88.23 1/a=258.6 b=« =6.14

L* ;=508 Y,=18, dY,=0.08 dY,/Y,=0.004
log[(L*) /(L* \)]=0, m,=0.43

Anwendungs-
bereich

Y,=18

log(AY/AY,)
AYIAY,

Relative LABIJND2-
Normfarbwertdifferenz

L*LaganD2= (Ya) In[ 1 + b (Y/Yy)]

a=0.3411 t=88.23 1/a=258.6 b=&=6.14
relative Normfarbwertdifferenz
log(dY/dY,) = log [(1+b*(Y/Yy)) / t] - log [(1+b) / 1]
Y,=18, dY,=0.08 dY,/Y,=0.004 ’o'
log[(dYy(dY,)]=0, m,=0.86

Anwendungs-
[EE)

log [(AY/Y) I AY /Y] Relative LABJND2-
C/Cry =(BYIV)I(BYIY,) Normfarbwertempfindlichkeit

L*Laginp2= (Ya) In[ 1 + b (V/Yy)]
a=0.3411 t=88.23 1/a=258.6 b=&=6.14

relative Hellbezugswertempfindlichkeit
10g[(dY//(AYy/Y,)] = log [(1+b:(Y/Yy) )/ (t-Y) ]

Anwendungs-
bereich

Iag[(dY/Y)((dYu/Yu)] 0, m,=-0.13
Y,=18, dY,=0.08 dY,/Y,=0.004
Yy=4

log [(Y/AY) I (Y/AY,)]
log(S,) S,/S,U:(Y/AY)/(Yu/AYu)Normfa’bWE”komraS‘

Relativer LABIJND2-

L*= (ta) In [ 1 + b (Y/Y,)]
a=0.3411 t=88.23 1/a=258.6 b=&=6.14
Hellbezugswertkontrast
log[(Y/dY)/(Yy/dYy)]= log [(tY) / (L+b-(Y/Yy) )]
—log [(tYy)/ (1+b)]
Y,=18, dY,=0.08 Y,/dY =222
log[(Y/dYY(Y,/dY,)]=0, m,=0. 13

bereich

100




